10000

PHAX 3115

1000

100 7/\

10

Ne (number of individuals * 100)

0 50 100 150 200 250 300
Time (KYA)
10000
PHAX 5574
5
=]
=
* 1000 —
®
3
2
2
£ 10| /_’—
=
o
3
2
£
B 10
o
z
1
0 50 100 150 200 250 300
Time (KYA)
10000
PHAX 8913
1000 -

100 Kr

10

Ne (number of individuals * 100)

0 50 100 150 200 250 300
Time (KYA)

Figure S4: Bayesian Skyline Plots for the three PHAXs in the YRI sample.
Thick black lines indicate the median for effective population size (Ne) and thinner grey lines
show 95% higher posterior density intervals.



